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Module 23

The Imperfect and Aorist Indicative
of Aéyw, Exw, Epyacdouat, didwut,
TIONUL

The Verb

In Greek and in English verbs have the same definition and functions. Verbs
are words that represent actions (throw) and states of being (be or exist). They
differ in the same fundamental way that Greek nouns differ from their English
counterparts: they use endings to create meaning in a way that English does
not. The Greek verb (pfjua) in its finite form has an ending that indicates what
person and number the subject is. The Greek infinitive has an ending that
indicates that it is unmarked for person and number.

UL-Verbs Contrasted with w-Verbs

ut-Verbs conjugate in the same way that w-verbs do but employ different
stems and endings in some tenses. With regard to the concepts of aspect and
time, w-verbs and ui-verbs are the same. They are also the same in how they
form their augments. As is the case with w-verbs, to conjugate ut-verbs with
accuracy, you must add the correct ending to the correct tense stem.

The Past Indicative Augment

Past time is indicated in verbs that begin with a consonant by adding the prefix,
¢é-, called the past indicative augment. In verbs that begin with a vowel or
diphthong the past indicative augment is created as outlined in the chart found
below.

© 2021 Philip S. Peek, CC BY 4.0 https://doi.org/10.11647/0BP.0264.28
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Unaugmented Stem Vowel Augmented Stem Vowel
a n
a n
n n
€ n
L i
1 i
0 o)
v 0
0 0

at n

av nu
el n

ev nu
ot ®
ov ov
o) o)

The imperfect, aorist, and pluperfect indicative tenses have a past indicative
augment. Consider the different ways that the English verb creates past tenses
and compare and contrast them with how the Greek verb does. Also take note
that when a verb has a prefix, the accent never moves beyond the past indicative
augment,

npo€idov I or they forsaw.

Tense-Aspect

Time (tense) refers to the past, present, and future. Aspect refers to whether an
action is incomplete (imperfective), complete (perfective), or in a state (stative).
The present tense stem, which is used to form the present and imperfect tenses,
communicates an incomplete action. The beginnings and ends of the action are
undefined. Thus the tense-aspect for the present is present ongoing or repeated
and the tense-aspect for the imperfect is past ongoing or repeated (imperfective).
The aorist tense stem communicates a completed action as a single whole. The
boundaries of the action’s beginning and end define the action as complete
(perfective). The future tense stems have a temporal value but no aspect,
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showing no distinction between the imperfective (incomplete) and perfective
(complete) aspect (CGCG 33.4-6).

The Gnomic Aorist

When it refers to actions that state a general truth or commonality, the aorist
tense stresses the universality of the verb’s action or state of being. Read the
following sentences,

TéYVN TOXNV €aTePEE Kal TUXN Té€XVNV (Agathon, fragment 6 TrGF 39F6),
Skill loves fortune and fortune loves skill;

and

pwun 8¢ petd pev dpovioews woéAnoeyv (Isokrates, To Demonikos 5-8),
Strength combined with intelligence creates;

and

nabovteg EuaBopuev (Greek proverb),
From suffering we learn.

In each sentence the aorist tense—&otep&e (loves), wdéAncev (creates),
éuadopev (learn)—is used to express a timeless truth. For more examples, see
CGCG 33.31.

The Aorist Contrasted with the Imperfect Tense

Both tenses typically refer to actions that have occurred in past time. The aorist
and the imperfect differ in aspect in accordance with what you have just read.

The First Aorist and the Second Aorist

If the third principal part ends in —a or —aunyv, it is called a first aorist and if it
ends in —ov or —ounv, it is referred to as a second aorist. There is no difference in
meaning. Consider the following verbs. Look at the third principal part and note
whether it ends in —a, —apnv or —ov, —ounv. First aorist endings are highlighted.
Second aorist endings are underlined.

dyw, agw, fyayov do, drive, lead second aorist
aicOavouat, aicOoouat, naOOunv perceive second aorist
BouvAedw, BovAevow, EfovAcvoa plan first aorist

ypadw, ypaw, Eypaa write first aorist
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épyalouat, épyaoopal, npyacaunv be busy, first aorist

work at; do

------ , EpEw, elUTOV say second aorist
é€xw, €¢w or oynow, éaov have, hold second aorist
£pyonay, ¢Agvoouat, RABov come, go second aorist
00w, B0cw, £€0voa sacrifice first aorist
Adyw, Aéw, EAeta say, tell, speak first aorist

1. In the top 250 vocabulary, this textbook combines the principal parts

of Aéyw and ------ , EpEw.

The Aorist of UL-Verbs

The type of aorist a pt-verb has is often ambiguous. Consider these pt-verbs,
Sidwput Swow ¢dwka* 8¢dwka 8¢Sopal  €8060nv
Sdelxvout  Seiw £6eLta S8édeya S8¢8etypal  €8eixbnv
inut flow -ka* -elka -elpat -elOnv
loTnut oTNOoW ¢otnoa €oTnka goTtapat  €otddbnv

gotnv**

TiOnuL Onow £€0nka*™ T€0nNKa TéBepal  €tébnv
onut onow ¢pnoa ——-

noting that the forms marked by a single asterisk, £8wxa, £€0nka, and -fka, are
referred to as mixed aorists because they use a combination of endings from
w-verbs and ui-verbs. These third principal parts are indistinguishable from
first aorist forms. For this reason, you must memorize which pi-verbs have a
mixed aorist. The form marked by two asterisks, €éatnyv, is called a root aorist
because it uses a long-vowel grade in forming the singular and plural of the
aorist active and middle. Unmarked forms &8eia, €otnoa, édnoa are first
aorists and are conjugated just like first aorists of w-verbs.

The Infinitive

Remember that in English and in Greek the infinitive is unmarked for person and
for number. It is classified as a verbal noun and is best understood by thinking
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of its function as completing or enhancing the meaning of adjectives, clauses,
nouns, and verbs. This is why the infinitive is referred to as a complement.
Sometimes classified as a mood, the infinitive is potential in meaning, &v
duvdpuel, because its action may or may not be realized. There are two types
of infinitives, the declarative and the dynamic. Both the declarative and the
dynamic infinitives refer to actions which exist potentially or év Suvdpuet.
The dynamic infinitive is negated by the abverb ufj not and not 00 not. 00 not
typically negates the declarative infinitive with some exceptions.

The Aorist Infinitive Contrasted with the Present
Infinitive

Exceptinindirect statements, covered in detail in Module 25, where the infinitive
stands for an original finite verb, the only difference in meaning between the
aorist and present infinitives is aspectual: the aorist infinitive communicates
a completed aspect as a single whole; the present infinitive has an incomplete
action, whose beginnings and ends are undefined.

Compare and contrast the forms and aspects of the two infinitives:

Aéyewv to say (incomplete aspect)
A€Eau to say (completed aspect)
eimelv to say (completed aspect)
€xew to have (incomplete aspect)
GXElv to have (completed aspect)
€pyalecBau to do (incomplete aspect)
épyacacar to do (completed aspect)
S8180van to give (incomplete aspect)

SoUvau to give (completed aspect)

Stems for the Imperfect and Aorist Tenses of w-Verbs

Imperfect Active, Middle, and Passive Tense Stem. To obtain the imperfect
tense stem of w-verbs, remove the ending from the first principal part. What
remains is the present and imperfect active, middle, and passive tense stem.
If the stem begins with a consonant, add the past indicative augment, &-, to the
stem’s beginning. If the stem begins with a vowel or diphthong, augment it in
accordance with the past indicative augment chart found above.
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The Aorist Active, Middle, and Passive Tense Stem of w-verbhs. The aorist
tense stems are formed from principal part III (active and middle) and principal
part VI (passive). To obtain the aorist tense stem of w-verbs, remove the ending
from the third or sixth principal part. What remains is the aorist tense stem. In
the lexical entries, these forms are already augmented. Consider the principal
parts of AVw,

AVw, AVow, EAvoa (active and middle), AéAvka, AéAvpatl, EAVONV (passive),

noting that the third and sixth principal parts are already augmented and that
the augmented aorist stems are €Avc- and ¢A00-.

Endings for the Imperfect and Aorist Tenses of w-Verbs

Secondary Active

(imperfect and second aorist)

Secondary Active

(first aorist)

S Pl S Pl
1=t Y -ouev 1= -a -auev
2nd -€G -€TE 2nd -ag -ate
3rd - (v) -ov 3 -£ (v) -av
Secondary Middle and Passive Secondary Middle
(imperfect and second aorist) (first aorist)
S Pl S Pl
1st -ounv -oueba 1st -aunv -apeda
2 -ov (-e00) -e00e 2 - (-a00) -aofe
3rd -€T0 -0VTO 3 -aTo -avTo

1. In the second person singular of secondary middle and passive and
secondary middle endings, intervocalic sigma drops out and the vowels
contract: epsilon and omicron, € + o, becomes the diphthong ov and
alpha and omicron, a + o, becomes omega, w.
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Secondary Passive
(Aorist)

S Pl
1st -nv -nuev
2nd -G -nte
3rd -n -noav

First Aorist Infinitive Active

-at (accent fixed on the penult)
Second Aorist Infinitive Active

-€lv (accent fixed on the ultima)
First Aorist Infinitive Middle

-acBat
Second Aorist Infinitive Middle

-¢00al (accent fixed on the penult)
Aorist Infinitive Passive

-fjvat  (accent fixed on the penult)

In what follows you learn how to combine stems and endings and how to
translate each form into its English equivalent.

Secondary Middle and Passive Endings

The following secondary middle and passive endings are used in forming many
of the tenses you learn for the middle and passive voices.

Secondary Middle and Passive

S P
1st -unv -ueba
2 -go -00¢
3rd -TO -VT0

It is a good idea to memorize them now.
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Endings in Summary

The charts below restate the same information as is found above, but in a
condensed form. Look over the chart and make sure that you understand how
to read it.

Active Middle Passive
mperfect-I +p.ia |ov opev ounv opeba ounv  opeba
£G £TE ov (eco)  eobe ov e0be
(V) ov £TO0 ovVTO £T0 0VTO
1 Aorist-III/TII/VI + | a OpEV opnv apeba nv TUEV
pia. a ate w (aoo) acBe ng nte
€ %v) av ato avto n noov
2 Aorist-III/TII/VI + | ov OlLEV ounv opeba nv TUEV
pia. €6 £TE ov e0be ng nte
e(v) oV £T0 oVTO n noav

These ending sets form two past tenses, the imperfect and the aorist, each
differing from the other in terms of aspect not time.

st Aorist remove “au aocBat nvat
p.ia.
2nd Aorist remove By £o00aL fjvau
p.ia.

Use these endings to form the aorist infinitive. Memorizing the endings now
before reading on is recommended.

Conjugation of Aéyw, £xw, and Epyalopat
The principal parts are these:

AEyw, AEEW, EAeEa, - , AéAeypal, EAexONv

&xw (imp. €lyov), £&w or oyfow, £o)ov, EoxNKa, -Eoynuat, -—----

¢pyagopal (augments to ei and 1)), épydoopat, npyacaunyv (eipyacaunv),
—————— , elpyacpuat, Rpyaconv

1. In the top 250 vocabulary, this texbook combines the principal parts
of Aéyw and ------ , £pEW: Aéyw, £pEw or AéEw, elmov or éAea, ipnka,
eipnuat or AéAgypar, EAExOnNV or EppnONV say, tell, speak;

Remember that to conjugate correctly, you need to combine the correct stem
with the correct endings.



Module 23 | The Imperfect and Aorist Indicative of Aéyw, & w, épyalouat, Sidwut, TiOnuL 327

Imperfect Indicative Active of Aéyw

To obtain the imperfect tense stem of Aéyw, remove the ending - from the first
principal part. What remains is the present and imperfect active, middle, and
passive tense stem, Agy-. To this stem, Aey-, add the past indicative augment, -,
and the imperfect and second aorist active endings.

Verb Form
€A\eyov
éAeyeg
éheye (V)

éAéyopuev
EAEyeTE

éAeyov

English Equivalent
I said, was saying, used to say
you said, were saying, used to say

he, she, it said, was saying, used to say

we said, were saying, used to say
you said, were saying, used to say

they said, were saying, used to say

Imperfect Indicative Middle of Aeyw

Use the same augmented stem as you did for the active voice, €Aey-. To this stem,
add the imperfect and second aorist middle and passive endings.

Verb Form
EAeyounv

gAéyou (ec0)

EAEYETO

gleyoueda

éAEyeabe

EAEYOVTO

English Equivalent
I chose, was choosing, used to choose

you chose, were choosing, used to
choose

he, she, it chose, was choosing, used to
choose

we chose, were choosing, used to choose

you chose, were choosing, used to
choose

they chose, were choosing, used to
choose

Person and #
1st person singular
2nd person singular

3rd person singular

15t person plural
2nd person plural

3rd person plural

Person and #
1t person singular

27 person singular

3rd person singular

1st person plural

2rd person plural

3rd person plural
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Imperfect Indicative Passive of A&yw

Use the same augmented stem as you did for the active and middle voices, éAey-.
To this stem, add the imperfect and second aorist middle and passive endings.

Verb Form English Equivalent Person and #
éAeyounv I'was said, used to be said 1t person singular
€Aéyou (ec0) you were said, used to be said 2nd person singular
EAéyeTo he, she, it was said, used to be said 3™ person singular
éAeyoueda we were said, used to be said 15t person plural
EAéyeobe you were said, used to be said 2 person plural
EAEYOVTO they were said, used to be said 3rd person plural

First Aorist Indicative Active of Aeyw

To obtain the aorist tense stem of Aéyw, remove the ending -a from the third
principal part. What remains is the augmented aorist active and middle tense
stem, €Aeg-. To this stem, éAe-, add the first aorist active endings.

Verb Form English Equivalent Person and Number
ENeta Isaid 1st person singular
éAe€ag you said 2 person singular
éAete (v) he, she, it said 3 person singular
éAECauev we said 1t person plural
EAECate you said 2" person plural

A eZav they said 3 person plural

First Aorist Infinitive Active of Aéyw

To obtain the stem, remove the past indicative augment from éAeg-. What
remains, Aeé-, is the unaugmented stem. To this stem, add the first aorist active
infinitive ending, -at.
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Verb Form English Equivalent Person and Number

AgCal to say unmarked

1. Note that the first aorist infinitive active is ALWAYS accented on the
penult. Thus its accent is persistent. Remember that final -at and -ot
count as short for purposes of accentuation except in the optative, a
mood learned in Part II of the 21st-Century series.

First Aorist Indicative Middle of A¢yw

Use the same stem as you did for the active voice, €Ae&-. To this augmented stem
add the first aorist middle endings.

Verb Form English Equivalent Person and Number
EAEEaUNV I chose 15t person singular
EAEEW (ao0) you chose 2nd person singular
€AETato he, she, it chose 3 person singular
éleCaueba we chose 1t person plural
EAEE0ODE you chose 2 person plural
EAEEQVTO they chose 3 person plural

1. In the second person singular, intervocalic sigma drops out and the
vowels contract: alpha and omicron, a + o, to .

First Aorist Infinitive Middle of Aéyw

To obtain the stem remove the past indicative augment from €&Aeg-. What
remains is the unaugmented stem, Ae¢-. To this stem add the first aorist middle
infinitive ending, -acOaut.

Verb Form English Equivalent Person and Number

Aé€aabal to choose unmarked

1. Remember that final -at and -ou count as short for purposes of
accentuation except in the optative, a mood learned in Part II of the
21st-Century series.
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Aorist Indicative Passive of Ayw

To obtain the aorist tense stem of Aéyw, remove the ending -nv from the sixth
principal part. What remains is the augmented aorist passive tense stem, éA¢y0-.
To this stem, €éA¢x0-, add the aorist passive endings.

Verb Form English Equivalent Person and Number
EAEXONV I'was said 1st person singular
€AEXONG you were said 2nd person singular
EXEXON he, she, it was said 3 person singular
EAEXONUEV we were said 1st person plural
EéAExONTE you were said 2nd person plural
eéAéxOnoav they were said 3 person plural

Aorist Infinitive Passive of Ayw

To obtain the stem remove the past indicative augment from €A€x0-. What
remains is the unaugmented stem, A€x0-. To this stem, add the aorist passive
infinitive ending, -fvat.

Verb Form English Equivalent Person and Number

AexOfvat to be said unmarked

1. Remember that the aorist infinitive passive is ALWAYS accented on the
penult. Thus its accent is persistent. Remember that final -at and -ot
count as short for purposes of accentuation except in the optative, a
mood learned in Part II of the 21st-Century series.

Imperfect Indicative Active of £yw

To obtain the imperfect tense stem of €xw, remove the ending -w from the
first principal part to obtain the stem &€x-. Augment the stem, noting that the
augmented stem is not the expected eta n-, but rather the diphthong et-. To this
augmented stem, eix-, add the imperfect active endings.

Verb Form English Equivalent Person and #

giyov I have, was having, used 1st person singular
to have
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Verb Form English Equivalent

elyeg you have, were having,
used to have

eixe (v) he, she, it has, was having,
used to have

elyouev we have, were having,
used to have

elyete ‘you have, were having,
used to have

giyov they have, were having,
used to have

Person and #

2 person singular

3 person singular

1t person plural

2 person plural

3 person plural

1. Note that according to the chart the expected past indicative augment
for €yw is n-. €yw is an exception to the general rule for augmenting

verbs that begin with vowels.

Imperfect Indicative Middle of £yw

Use the same augmented stem as you used for the active voice, eix-. To this stem,

add the imperfect middle and passive endings.

Verb Form English Equivalent Person and #
eiyounv I clung, was clinging, used to cling 1st person singular
elyov (eoo) you clung, were clinging, used to cling 2nd person singular
elyeto he, she, it clung, was clinging, used to 3rd person singular
cling

eiyoueda we clung, were clinging, used to cling 15t person plural
elyeabe you clung, were clinging, used to cling 2 person plural
elyovto they clung, were clinging, used to cling 3d person plural

1. In the second person singular, intervocalic sigma drops out and the
vowels contract: epsilon and omicron, € + o, to ov.

Imperfect Indicative Passive of £xw

Use the same stem as you used for the active and middle voices, eix-. To this
stem, add the imperfect middle and passive endings.
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elyov (ec0)

elyeto

elyoueba

elyeobe

elyovto
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English Equivalent
I'was held, used to be held

you were held, used to be
held

he, she, it was held, used to
be held

we were held, used to be held

you were held, used to be
held

they were held, used to be
held

Person and #
1t person singular

2nd person singular

3rd person singular

15t person plural

2rd person plural

3 person plural

1. In the second person singular, intervocalic sigma drops out and the
vowels contract: epsilon and omicron, € + o, to ov.

Second Aorist Indicative Active of Exw

To obtain the aorist tense stem of €xw, remove the ending -ov from the third
principal part. What remains is the augmented aorist active and middle tense
stem, €oy-. To this stem, £éo-, add the second aorist active endings.

Verb Form
£oxov
€0xEG

goxe (v)

goyouev
éoyete

£oyov

English Equivalent
I had

you had

he, she, it had

we had
you had
they had

Person and Number
1t person singular
2nd person singular

3 person singular

1t person plural
2" person plural

3rd person plural

Second Aorist Infinitive Active of £yw

To obtain the stem, remove the past indicative augment from €oy-. To this
unaugmented stem, 6(-, add the second aorist active infinitive ending, -€tv.
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Verb Form English Equivalent Person and Number

oXEWV to have unmarked

1. Note that the second aorist infinitive active is ALWAYS accented on the
ultima. Thus its accent is persistent.

Second Aorist Indicative Middle of Exw

Use the same stem, £€o6(-, as you used for the active voice. To this augmented
stem, €6, add the second aorist middle endings.

Verb Form English Equivalent Person and Number
goyxounv Iclung 15t person singular
¢oxov (ec0) you clung 2nd person singular
éoxeTo he, she, it clung 3 person singular
¢oyxoueda we clung 15t person plural
¢oxeabe you clung 2 person plural
¢oxovTo they clung 3 person plural

1. In the second person singular, intervocalic sigma drops out and the
vowels contract: epsilon and omicron, € + o, to ov.

Second Aorist Infinitive Middle of £yw

To obtain the stem, remove the past indicative augment from €oy-. To this
unaugmented stem, 6-, add the second aorist middle infinitive ending, -¢60at.

Verb Form English Equivalent Person and Number

oxéabal to cling unmarked

1. Note that the second aorist infinitive middle is ALWAYS accented on
the penult. Thus its accent is persistent. Remember that final -at and
-oL count as short for purposes of accentuation except in the optative,
a mood learned in Part II of the 21st-Century series.
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Imperfect Indicative of Epyalouat

To obtain the imperfect tense stem of épyafouat, remove the ending -opat from
the first principal part to obtain the stem ¢pyac-. Augment the stem to an eta, n-.
To this augmented stem, Rpyad-, add the imperfect middle and passive endings.
Remember that deponent verbs are similar to w-verbs, except that they have
middle and passive forms but active meanings. Deponent w-verbs conjugate
just as é¢pyafopar does. In the readings use your knowledge of é¢pyafopat to
recognize and translate the forms of other deponent w-verbs.

Verb Form English Equivalent Person and #
npyagounv Idid, was doing, used to do 1st person singular
npyagov (eco) you did, were doing, used to do 2 person singular
npyageto he, she, it did, was doing, used 3rd person singular
to do

npyacoueda we did, were doing, used to do 15t person plural
npyagecbe you did, were doing, used to do 2 person plural
npyagovto they did, were doing, used to do 3rd person plural

1. In the second person singular, intervocalic sigma drops out and the
vowels contract: epsilon and omicron, € + o, to ov.

Aorist Indicative of Eépyadouat

To obtain the aorist tense stem of épydCouat, remove the ending -aunv from the
third principal part to obtain the augmented stem Rpyaoc-. To this stem, Rpyac-,
add the aorist middle endings.

Verb Form English Equivalent Person and Number
npyacaunv Idid 1st person singular
npyaow (aco) you did 2nd person singular
npyacato he, she, it did 3rd person singular
npyacaueda we did 1st person plural
npyaoacde you did 2 person plural

npyacavto they did 3 person plural
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1. In the second person singular, intervocalic sigma drops out and the
vowels contract: alpha and omicron, a + o, to .

Aorist Infinitive of Epyalopat

To obtain the stem of é¢pydalounat, remove the augment from Rpyac-. To this
unaugmented stem, ¢pyac-, add the first aorist middle infinitive ending, -acOat.

Verb Form English Equivalent Person and Number

¢pyacacbat to do unmarked

1. Remember that final -at and -ot count as short for purposes of
accentuation except in the optative, a mood learned in Part II of the
21st-Century series.

Stems for the Imperfect and Aorist Tenses of 5iSwl

Imperfect Tense Stems for the Active Voice of §i6wuu:

long vowel grade short vowel grade
(use for the singular) (use for the plural)
S18ov- S180-

Imperfect Tense Stem for the Middle and Passive Voice of §i8wut:

short vowel grade
(use for the singular and plural)

S180-

Aorist Tense Stems for the Active Voice of §i6wut:

w-verb consonant stem short vowel grade
(use for the singular) (use for the plural)

Swk- 80-
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Aorist Tense Stem for the Middle Voice of §idwut:

short vowel grade
(use for the singular and plural)

do-

Aorist Tense Stem for the Passive Voice of §iSwut:

w-verb consonant stem
(use for the singular and plural)

800-

Endings for the Imperfect and Aorist Tenses of SiSwuL

Add these endings and the past indicative augment to the correct tense stem.

Secondary Active

(use for the imperfect active) (use for the aorist active)
S PL S PL

-V -uev -a -uev

-G -Te -ag -Te

- -oav -£ (V) -oav

Secondary Middle and Passive

(use for the imperfect middle and
passive and the aorist middle)

S Pl
-unv -ueba
-00 -00¢e

-TO -VT0
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Secondary Passive

(use for the aorist passive)

S Pl
nv Nuev
-ng nte

-n -noav

Conjugation of SiSwuL
The principal parts are these:
Sidwut, Swow, Edwka, §¢8wka, §¢Souat, £566nv

Remember that to conjugate correctly, you need to combine the correct stem
with the correct endings.

Imperfect Indicative Active of 5idwpt

Singular: long vowel grade, 8t8ov- + past indicative augment and secondary
active endings. Plural: short vowel grade, §180-, + past indicative augment and
secondary active endings.

Verb Form English Equivalent Person and #
£8i8ovv I'was giving, used to give 15t person singular
€6i8oug you were giving, used to give 2nd person singular
€6180v he, she, it was giving, used to give 3 person singular
€6i8opev we were giving, used to give 15t person plural
€6i8ote ‘you were giving, used to give 2 person plural
¢8idoocav they were giving, used to give 3rd person plural

Imperfect Indicative Middle of §iSwut

Short vowel grade stem, 8§160-, + past indicative augment and secondary middle
and passive endings.
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Verb Form English Equivalent Person and #
edidounv I'was devoting, used to devote 1st person singular
€8i8000 you were devoting, used to devote 2" person singular
€8i8oto he, she, it was devoting, used to 3 person singular
devote
£5180ueba we were devoting, used to devote 1% person plural
€618000¢ ‘you were devoting, used to devote 2™ person plural
¢5i8ovto they were devoting, used to 3rd person plural
devote

Imperfect Indicative Passive of §iSwpL

Short vowel grade stem, 8180-, + past indicative augment and secondary middle
and passive endings.

Verb Form English Equivalent Person and #

dLdounv TI'was being given, used to be 15t person singular
given

¢8i8000 you were being given, used to be 2" person singular
given

€8i8oto he, she, it was being given, used 3 person singular
to be given

£5180ueba we were being given, used to be 15t person plural
given

€518000¢ you were being given, used to be 2™ person plural
given

¢8iSovto they were being given, used to be 3" person plural
given

Aorist Indicative Active of {dwuL

Singular: w-verb augmented stem, é8wk-, + first aorist endings. Plural: short
vowel grade stem, 80-, + past indicative augment and secondary active endings.
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Verb Form English Equivalent Person and #
£8wka I gave 1%t person singular
€8wxkag you gave 2nd person singular
gdwke (v) he, she, it gave 3rd person singular
é¢8ouev we gave 1t person plural
é8ote you gave 2 person plural
¢8oocav they gave 3rd person plural

Aorist Infinitive Active of SiSwulL

Long vowel grade, §ov-, + active infinitive ending, -vat.

Verb Form English Equivalent Person and Number

Solvat to give unmarked

1. Note that infinitives with the ending -vat are ALWAYS accented on the
penult. Thus their accent is persistent. Remember that final -at and -ot
count as short for purposes of accentuation except in the optative, a
mood learned in Part II of the 21st-Century series.

Aorist Indicative Middle of §{Swut

Shortvowel grade, §0-, + pastindicative augment and secondary middle endings.

Verb Form English Equivalent Person and #
gdounv I devoted 1st person singular
¢8ov (£6000) you devoted 2 person singular
£8oto he, she, it devoted 3rd person singular
¢80ueba we devoted 1st person plural
£8000¢e you devoted 2nd person plural

¢8ovto they devoted 3 person plural
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1. Note that in the second person singular intervocalic sigma drops out
and the two omicrons, o + o, contract to the diphthong ov.

Aorist Infinitive Middle of 55wt
Short vowel grade, §0-, + middle infinitive ending, -c0at.

Verb Form English Equivalent Person and Number

5600at to devote unmarked

Aorist Indicative Passive of 518wt

w-verb augmented consonant stem, £€600-, + w-verb aorist passive endings.

Verb Form English Equivalent Person and #
€6060nv I'was given 1%t person singular
€6060ng you were given 2nd person singular
€800n he, she, it was given 3rd person singular
€660nuev we were given 15t person plural
£800nte you were given 2rd person plural
£€866noav they were given 3rd person plural

Aorist Infinitive Passive of §idwpL

w-verb consonant stem, 800-, + aorist passive infinitive ending, -nvat.

Verb Form English Equivalent Person and Number

Sobfjvat to be given unmarked

1. Note that infinitives with the ending -vat are ALWAYS accented on the
penult. Thus their accent is persistent. Remember that final -at and —ot
count as short for purposes of accentuation except in the optative, a
mood learned in Part II of the 21st-Century series.
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Stems for the Imperfect and Aorist Tenses of TiOnuL

Imperfect Tense Stems for the Active Voice of tiOnuu

long vowel grade short vowel grade
(use for the singular) (use for the plural)
T0n- or T10eL- T0¢-

Imperfect Tense Stem for the Middle and Passive Voice of tiOnuu:

short vowel grade
(use for the singular and plural)

T108-

Aorist Tense Stems for the Active Voice of tiOnuu:

w-verb consonant stem short vowel grade
(use for the singular) (use for the plural)
Onk- Oe-

Aorist Tense Stem for the Middle Voice of TiOnuu:

short vowel grade
(use for the singular and plural)

Oe-
Aorist Tense Stem for the Passive Voice of tiOnuu:

w-verb consonant stem
(use for the singular and plural)

T7€0-

Endings for the Imperfect and Aorist Tenses of TiOnuL

Add these endings to the correct tense stem.
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Secondary Active

(use for the imperfect active) (use for the aorist active)
S PL S PL

-V -pev -a -pev

-G -Te -ag -Te

-oav - (v) -oav

Secondary Middle and Passive

(use for the imperfect middle and
passive and the aorist middle)

S Pl
-unv -ueba
-0 -00¢
-T0 -VT0
Secondary Passive

(use for the aorist passive)

S Pl
v nuev
g nee

-n -noav

Conjugation of TiOnuL
The principal parts are these:
TOnuL, Onow, €6nka, TEONKa, TéBelpal, £TEONV

Remember that to conjugate correctly, you need to combine the correct stem
with the correct endings.

Imperfect Indicative Active of TiOnuL

Singular: long vowel grades, T10n- and TiBet-, + past indicative augment and
secondary active endings; plural: short vowel grade, TiBe-, + past indicative
augment and secondary active endings.
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Verb Form English Equivalent Person and #
ETiONV I'was placing, used to place 1t person singular
¢tiBeLg you were placing, used to place 27 person singular
€tiBeL he, she, it was placing, used to 3rd person singular
place

¢TiBepev we were placing, used to place 15t person plural
¢tibete you were placing, used to place 2 person plural
¢tiBeocav they were placing, used to place 3" person plural

Imperfect Indicative Middle of TiOnut

Short vowel grade stem, ti0e-, + past indicative augment and secondary middle
and passive endings.

Verb Form English Equivalent Person and #
ETdEUNV TIwas setting, used to set 15t person singular
¢tiBeco you were setting, used to set 2rd person singular
¢tiBeto he, she, it was setting, used to set 3" person singular
eT10epeda we were setting, used to set 1st person plural
¢7(0eobe you were setting, used to set 2nd person plural
¢tiBevto they were setting, used to set 3 person plural

Imperfect Indicative Passive of TiOnut

Short vowel grade stem, ti0e-, + past indicative augment and secondary middle
and passive endings.

Verb Form English Equivalent Person and #

ETIOEUNV I'was being placed, used to be placed 1st person singular
¢tibeco you were being placed, used to be placed 2™ person singular
¢tibeto he, she, it was being placed, used to be 3rd person singular

placed
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Verb Form English Equivalent Person and #

€T10¢pueba we were being placed, used to be placed 1% person plural
¢1i0ecbe you were being placed, used to be placed 2™ person plural
¢tibevto they were being placed, used to be placed 3 person plural

Aorist Indicative Active of TIONuL

Singular: augmented w-verb stem, €¢0nk-, + first aorist active endings. Plural:
short vowel grade stem, Oe-, + past indicative augment + secondary active

endings.

Verb Form English Equivalent Person and #
£€0nka Iplaced 15t person singular
£€0nkag you placed 2nd person singular
€0nke (v) he, she, it placed 3 person singular
€0euev we placed 1st person plural
é0ete you placed 2 person plural
¢Beoav they placed 3 person plural

Aorist Infinitive Active of T{OnuL

Long vowel grade, O¢L-, + active infinitive ending, -vat.

Verb Form English Equivalent Person and Number

Belvat to place unmarked

1. Note that infinitives with the ending -vat are ALWAYS accented on the
penult. Thus their accent is persistent. Remember that final -at and -ot
count as short for purposes of accentuation except in the optative, a
mood learned in Part II of the 21st-Century series.

Aorist Indicative Middle of TiOnut

Short vowel grade, Oe-, + past indicative augment and secondary middle endings.
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Verb Form

€0epunv

£00v (¢6e00)

£0eto

€0epeba
¢0eabe

£€0evTo

1. Note that in the second person singular intervocalic sigma drops out

English Equivalent

I set
you set

he, she, it set

we set
you set

they set

Person and #
1t person singular
27 person singular

3rd person singular

1t person plural
2" person plural

3rd person plural

and the epsilon and omicron, € + o, contract to the diphthong ov.

Aorist Infinitive Middle of TiOnuL

Short vowel grade, O¢e-, + aorist middle infinitive ending, -c0at.

Verb Form

B¢o0atL

English Equivalent

to set

Person and Number

unmarked

Aorist Indicative Passive of T{ONnuL

w-verb augmented consonant stem, €teB-, + w-verb aorist passive endings.

Verb Form
€Telnv
€T€0NG

€1e0n

£T€0nuev
ételnte

¢tébnoav

English Equivalent
I'was placed
you were placed

he, she, it was placed

we were placed
you were placed

they were placed

Person and #
1%t person singular
2 person singular

3 person singular

1t person plural
2 person plural

3 person plural

345
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Aorist Infinitive Passive of TiOnutL

w-verb unaugmented consonant stem, teB-, + aorist infinitive passive ending,
-nvat.

Verb Form English Equivalent Person and Number

Tedfval to be placed unmarked

1. Note that infinitives with the ending -vat are ALWAYS accented on the
penult. Thus their accent is persistent. Remember that final -at and -ot
count as short for purposes of accentuation except in the optative, a
mood learned in Part II of the 21st-Century series.

Practice Translating the Imperfect and Aorist Indicative Active. Check your
understanding with the translations in the Answer Key.

1. qubg xakd gmoiovv.

avtoug épyeabal €melbov.
a0TOLC EAaVVELY EMELOQL.

Tt Eduyov Epopad.

tadta opiow Eypajag;
avToug v Th Y n0pov.
TIOAAQ UTIO ékelvwv emaBopev.

Caew eig aiel nOEANCAV.

© % N> e D

aUTOVG TAPACKELY TA YPNUATA EKEAEVCE.
10.tabta aipnoewv EuéAAopev.
Yocabulary
*aipéw, aipfiiow, elhov take, seize, grab, capture; (mid.) choose
*ypaow, ypaw, Eypada write
*€0¢EAw, €0eAnow, N0éAnca wish, be willing
*¢pouan (eipopay), épricouat (eipjoopar), nEounv ask
*gOpiokw, eVpiow, nOpov find
*Exw, EEw or oxfow, éaov have, hold; be able + inf.; kaA&®G €xewv to be well
*Caw live
*KEAELW, KEAEVOW, £kéAgvoa bid, order, command

*uEAAw, peAAnow, EuéAAnoa be about to, be going to; be likely to + inf. (fut. inf.
in Attic)
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*nacyw, meicopal, Emadov suffer, have done to one
*neifw, meiow, EmeLoa persuade; (mid. or pass.) listen to, obey + dat. or gen.
*noléw, Toujow, émoinoa do, make, cause; (mid.) consider

*devyw, devtopnat, Eduyov flee
1. Theasteriskindicates the top 250 most frequently occurring vocabulary,
which you are to memorize.

Philoktetes, ®uloktitng. Philoktetes was born in Thessaly to Poias and
Demonassa, king and queen of Meliboia, a Thessalian city. A Greek hero,
Philoktetes was a famous archer, a suitor to Helen, and a participant in the
Trojan War. At least four different tragic plays told his story. Sophokles’ version
is the only one to survive. In Iliad Book 2, Homer mentions his exile on the
island of Lemnos, his snake-bite, and his recall from Lemnos back to Troy.
Philoktetes enters the story of Herakles when Herakles, in pain from wearing a
shirt poisoned by the blood of Nessos, asks him to end his agony by lighting his
funeral pyre. Previously, Herakles had asked several people for assistance but
they all refused. Philoktetes agrees to help him and lights the pyre. In gratitude
Herakles gives him his bow and poisoned arrows. Philoktetes was also a suitor to
Helen. All suitors swore an oath to Helen’s mortal father, Tyndareus, promising
that they would defend Helen and the suitor chosen to be her spouse. Menelaos
was chosen and married her. When Paris abducted Helen, Philoktetes honored
his oath and participated in the quest to reclaim Menelaos’ bride. En route to
Troy with many other Greeks, Philoktetes suffered a wound to his foot. The
wound festered. The smell was so foul and Philoktetes’ suffering so loud that
the Greeks left him stranded on the island of Lemnos. Ten years later because
there was a prophecy that they would not conquer Troy without his help and
his bow, the Greeks returned to Lemnos to ask Philoktetes to help them win the
war and Helen back. Sophokles’ play, Philoktetes, concerns convincing, forcing,
or tricking Philoktetes into returning to Troy. Odysseus counsels using trickery.
Neoptolemos, Akhilleus’ son, counsels force and transparency.

Practice Translating. Translate the sentences below, which have been adapted
from Sophokles’ Philoktetes (®wAoktiTng). Remember the meanings and
functions of the cases presented in Module 7. Use your memory to identify
endings and their functions. If you forget an ending or a function, consult
the Adjective, Adverb, Noun, and Pronoun Chart in Appendix VIII and the
Case and Function Chart in Appendix I. Check your understanding with the
translations in the Answer Key, making sure that you understand why each
word translates as it does. Now go back and read each sentence two or three
times, noticing with each rereading how much better your understanding of the
sentence becomes. Make this a habit and you will improve quickly.
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NeomtéAeuog: oK aioypov NUIV Sfjta 10 Yevdeg AéyeLyv;

‘'08ve0elG: 0VK el TO oWTAPLOV Ye TO PeDEOG hEPEL.

NeomTOAEUOG: TTOC OVV EXEL TIC PAETIWY TADTA TOAUA AAKETY;

‘06v60ec: €l TL 5pag eig kKEPSOC, OUK OKVETY TTPETEL.

5 NeontOAepog: kEpSog & £poi Ti ei 00T0G £¢ Tpoiav HOAET;

‘06vc0ea: aipel Ta to&a v Tpoiav yova.

NeomTOAEHO0G: 0UK Apa TEPOW, (G EUOL EPACKET, EYW;

‘08v06evG: 0UTE MEPTELS 0L KEIVWV Ywpic oUT ékelva coD.

NeomtéAepog: tadta oOv Sel AaBely, eimep O’ Exel.

10 '08vcocevg: o0t V' €pSwv, SV oiloelg Swpnuata.

NeomtéAepog: nola; €k 6ol tadta pavbavwyv, ovk apvicouat Spav.

‘06vc0elc: 6 cohdv Te Kal ayabov e karoDowv dua.

NeomtoAepog: oipot. Tadta moujow Kal mdcav aiocyvvnv addrow.

'08VG6EVG: N} LVNUOVEDOELS 0DV & ool TTaprveoa;

15  NeomtoAepog: oad’ oioba, émeinep eiodna€ cuviveoa.

Adverbs and Verbs

*aipéw, aipriow, elAoV take, seize,
grab, capture; (mid.) choose

apa indicates a question, often
expects the answer no; dpa ov
expects a yes

apvéouat, apvijoopat, npvnoaunv
deny, disown; decline, refuse + inf.
adinuy, adfow, aodijka send forth,
discharge, let go, call off; suffer,
permit

BAWOKW, poAéopat, EpoAov come, go

*8el it is necessary + X’ in gen. or
dat. or acc. + inf.,, el éAOelv it is
necessary to come

UVNUOVEVW, UVNUOVEVOW,
éuvnudévevoa remember; mention,
say

oipou alas

OKVEW, OKVIGW, OKvnoo shrink,
scruple, hesitate + inf.

TAPUALVEW, -0LVECW, -IjVEGU exhort,
advise + inf.

mépOw, Tépow, Emepoa waste,
ravage, sack, destroy

*noléw, Toujow, éroinoa do, make,
cause; (mid.) consider
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Sijta certainly, of course

Spaw, Spdow, édpaca do,
accomplish, act

*elui, Ecopan be, be possible

elodmag at once, once, already

*g¢xw, EEw or oyow, écov have,
hold; be able + inf.; kaA®g €xewv to be
well

*KAAEW, KAAEW, EkaAeoa call

Aakéw scream, shout; utter

*Aéyw, AEEW or £péw, EAeEa or elmov
say, tell, speak

Adjectives, Nouns, Pronouns

*ayaBog, ayadn, aya®dév good, noble

aioypog, aioypd, aioypov shameful,
disgrasceful, ugly, base

aioyovvn, aioxvvng | shame,
dishonor

BAémtwv, BAémovTog 0 looking at,
seeing

*&§vo two

Swpnua, Swpnuartog To gift, present
épdwv, €pdovTog 0 doing

*Kelvog = ¢KeTVOGg

Képdog, képdeog (-ovg) T6 gain,
profit

*uavéavwv, pavldavovtog 0 learning,
learning how to; understanding
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npémeL (impers.) it is fitting + inf.

cada clearly, evidently

GLVALVEW, -aLVECW, -|VEGA praise;
concede, give; agree, consent + inf.

TOANAW (TOApéw Ionic), ToAunow,
€toAunoa dare, be daring, undertake
+inf.

ddaoxw say, affirm, assert

*épw, oiow, ffveyka or veykov
bring, bear, carry; endure

Xwpig apart from, seperately + gen.

8¢ in this wise, thus

*uovog, uévn, povov only, sole, alone,
solitary; one

*néoa, maong 1 all, each, whole

molog, moia, molov of what sort

600 0G, GoO1}, COOOV wise

CWTIPLOV, GWTNPLOVL TO safety,
security

TO0E0V, TOEOUL TO bow
Tpoia, Tpoiag 1 Troy
Yevdng, Yevdeg false

VYed8og, Pevdeog (-ovg) 16 falsehood,
lie
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1. Theasteriskindicates the top 250 most frequently occurring vocabulary,
which you are to memorize.

Practice Parsing Greek Sentences. Parse each word of the sentence found
below. For nouns and pronouns, give case and function. For verbs, give person,
number, tense, mood, and voice. For adverbs and conjunctions, identify them.
For prepositional phrases, give the preposition and the preposition’s object. For
adjectives, specify the noun they agree with in gender, number, and case.

o€ 00OV Te Kal ayabov o€ karéovolv aua.
Check your answers with those in the Answer Key.

Module 23 Top 250 Vocabulary to he Memorized. Like learning the alphabet
and endings, memorizing vocabulary is essential to acquiring language. The
better you memorize the top 250 most frequently occurring vocabulary words,
the greater mastery of the language you will have.

Nouns

S8ijuog, 8uov o people

oTpaTNYOG, aTpaTnyoD 0 general

TpOTOG, TPOTOVL 0 way, manner, turn; (pl.) character
vidg, viod 0 son, child

Youxn, Yoxig N life, soul, spirit

Verbs

AmOAALUL, ATOoAéw, ATWAeca (trans.) or amwAdunv (intrans.), G@ToAWAEKA
(trans.) or amoAwAa (intrans.), ------ e kill, lose; (mid. and intrans.) die, cease
to exist

ypadw, ypayw, Eypava, yéypada, yéypauuat, Eypadnv write
Seilxvoul, Seiw (8€Ew), €6e1ia (86ega), 8£€8eLya, S€8etynal, £8eiyOnv show,
display

xpn (nf. xpRvar < xpn + etvay; imp. €xpijv or xpfv < xpn + Qv; fut. xproey),
xpiiotal (xpn + €ota) it is necessary + inf.

a N
Etymology Corner XXIII by Dr. E. Del Chrol

Technical Terms 19, Parts of Speech

Verbs, cont. As with tense and tense being unrelated homonyms, grammatical mood
comes from a different root than that of your emotional mood. Grammatical moods

A /
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a N

are not about how a verb is feeling, but which mode of expression it is in. In fact,
mode shifted to mood in Middle English and is attested in grammatical texts around
1450 CE. Though identifying indicatives, optatives, and subjunctives may make you
cranky some days, that’s your problem, not Greek’s. Those poor verbs are just trying
to signify a quality of the verb. Each of the moods is aptly named as well.

* We already discussed infinitives a little bit earlier. Imperatives come from
the Latin command (imperare) and are used for ordering people to do things.
The Greek for imperative is TpootakTikog, and you can see what gives us
the English tactic at the root of it. Think of the English adjective imperative
meaning something that you have to do as if you were commanded to do it.

» Indicative statements indicate something about reality, that is, they speak
towards something (Latin in + dicare). Your pointer finger is also called your
index finger, and comes from the same root. It makes sense because when
you are pointing something out, speaking towards an object, you are probably
pointing at it with your index finger. Indicatives point at what happens or
happened for real (at least as the speaker asserts it is).

* Optatives and subjunctives feel similar in their ways of describing
hypothetical or supposed situations, though be careful because sometimes it’s
for primarily grammatical reasons as you will see. The opt part of optative
you recognize as meaning to choose, or desire, or wish for, hence its use in
Greek grammar, the term deriving from Latin. Subjunctive is a little trickier.
It comes from joined underneath (jungere, like in junction or conjunction
which we met before + sub, like a submarine which goes under the water).
Even though there are a few independent uses of the subjunctive, they are
mostly found in subordinate clauses, so they are in a way attached under
the main idea.

What to Study and Do 23. Before moving on to the next module, make sure that you
have memorized the verb endings for the imperfect and the aorist and that you can
decline these tenses from memory. Also make sure you know how to put augments
on and take them off when forming the imperfect and aorist tenses. Finally, have a
good understanding of the aspectual differences between the aorist and the imperfect
tenses.

Learning Tip 23: Use Word Numbers. Remembering dates and long strings of
numbers is challenging. Consider the phrase,

American presidential candidates
and this number

347294 012 157 211 10
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Which is easier to remember, the number or the phrase? The phrase, of course. In this
learning tip, you learn how to use word numbers in order to remember dates. Each
number from 0-9 represents specific sounds.

0 = soft c (dice), s, and z

l1=dandt

2=n

3=m

4=r

5=1

6 = soft ch (Chigago), sh, soft g (gym), and j
7 = hard c (coat), hard g, k

8=fandv

9=bandp

The vowel sounds, a, e, i, 0, u and the letters w, h, y are not represented by a number.
They are blanks. The word cave represents the number 78. The word lamely from
stepping into Herakleitos’ river represents the number 535. The words leaven from
Anne of Green Gables’ making bread as she reads Anakreon’s lost corpus represents
the number 582. For Mimnermos the word James of Jesse James’ making fun of me
because I’'m nervous to eat a bun filled with snake eyes represents the number 630.
Shims that I use to remove sap from my shoe for Sappho also represents the number
630. The television was invented in 1926. Punch represents the number 926. You
can imagine yourself punching the TV to make it come to life. For the number 1926,
we only represent the last three numbers. In 1942 the first computer was invented.
Imagine a computer the shape and size of a barn being assembled in an even bigger
barn by barn yard animals. The one is again omitted. Remember this number,

347294 012 157 211 10?
The phrase American presidential candidates represents it:

Am (3)er 4)ic(7)an (2) p (9 r (4) es (0) id (1) en (2) t (1) ial (5)
c(7)an (2)d (1) id (1) at (1) es (0).

For additional strategiesin using numbers as a way toremember essential information,
read Kevin Horsley’s book Unlimited Memory (2014) and Tony Buzan’s Use Your Perfect
Memory (1990).
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